Combined Graduate Level Examination Tier | 2022

Roll Number
Candidate Name
Venue Name

Exam Date 03/12/2022
Exam Time 9:00 AM - 10:00 AM
Subject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q1 A#BFTAYE'A BIIATTI
A@B®HTASE'A BHTICTEI
A&BITAYE A BB HE I
A%BBTATE A BTN I
TRAW#Q@TE&Y@M%KE, @ K, W {5 ver gefie 872

Ans X 1.qR
2.4
¢ 3. TR
> 4. U

Question ID : 26433068150
Status : Answered
Chosen Option : 3

Q.2 I IYTT BT 99T PIRT s F=g oo & 3t wopR et § forr wow fFPrafefaa
U=l B TSI 3 # afta €1
(Fite: TE3i B 3P g 3! H fquifora fore famn, yof Temsit w nivrdig dferars 5t
ST TIRT | IeTeRvT & T 13 - Kty Aferant S % SisAIge AN ST 3ife 13
o foraT ST gpa1 81 13 BT 1 3R 3 H FAUTRIG S 3R R 1 3R 3 WR nfvrdig dfsrame
3 P Al T 21)

(12,42, 7)
(13,52, 8)

Ans X 1.(7,12,6)
& 2.(9, 18, 4)
2 3.(9, 26, 8)
X 4.(8,7,43)

Question ID : 26433079123
Status : Answered
Chosen Option : 2

Q.3 = fou MU wy &, IR WE g 3 T ¥ | vde g H (<) & 9t ok & S Wen () &
rfY 3R &Y TS S @ Pt adb/fFramiEy @ et 31 619 3w S v adbfamRidy
F YR W IAHE 7| faw ¢ fyeeat & & faww &1 g g (e §: densi o 396 Hues
3! § fufora fare fam, gof Semsit w dfrart et €1 s anfe Serewor 13-
13 IR HfHaTE S 6 13 § SlsAaeIATen ST S foran s gava 71 1aaﬁ1sﬁ?3ﬁ
dreAT 3R 3R fiBR 1 3R 3 wR v wishard A Ft srgufa 78 @)

Ans 7 1.12-167
K 2.11-11
X 3.8-81
K 4T7-71

Question ID : 264330105064
Status : Answered
Chosen Option : 1




U R e fwedt F ¥ 3@ R & U B S o WEia-oer
gt (?) & T 9 3T Fhal 87

(1 [ 511
>+ 2+
37 9|
Ans [
15
- ‘
113
13

x 2. <>

15

15
x 3. <~

13

13|
x 4. e |

15

Question ID : 26433057858
Status : Answered
Chosen Option : 4

Q5 T & I B AT HeTeT-3reeT RufaHt Fr Tmer (3gfa 1 7 3)
T T Baw F A9l Fos W FE A9 e

figure 1 figure 2 figure 3

Ans 1.4
X 2.3
X 3.5
X 4.6

Question ID : 26433070246
Status : Answered
Chosen Option : 1




Q.6 fafafad uy & § 75 @ § & g 8@ Jd S

1,22,44,67,91,?
Ans X 1.106

X 2.118
 3.116
X 4.115

Question ID : 264330105013
Status : Answered
Chosen Option : 3

Q.7 I Ay &1 799 FINT St TEd AeR-THE A IW THR Gt & Ry TR gavT 3er-
TUE UTH SER-TUE § Tl € 3R YT SieR-Tgg TR 3eR-T9E | et 21
ROAR : QZNQ :: HEAR : QZDG :: DAMP : ?

Ans X 1.BCOA
< 2. MPAD
« 3.0LZC
< 4. PMAD

Question ID : 26433056403
Status : Answered
Chosen Option : 3

Q.8 & Y &) T F 3w § WRER 9ea1 W ufafad § & Si9 a1 geiieo 9 T8t
Trrs
Ans X 1.9x4+5-8:2=25
X 29-4x5+6+2=-28
X 3.9+7x8+4-5=10
& 4.9-5x4+6+3=-30

Question ID : 264330105106
Status : Answered
Chosen Option : 4

Q.9 fFafifed TR sigR-aaeEl # @ & 5 Fifta wdie & a9 € 3R 39 voR Te ag
T 1 BT T SHER-TA 39 TYg & Ao fa T 872
Ans X 1.FYI
X 2.RKU
7 3.KDN

« 4.CGB

Question ID : 26433081507
Status : Not Answered
Chosen Option : --

Q.10 I Ay H1 99 P, FoRIBT Uiad 3ieR-T9g | 3P 98] Tey 7, WY Wy gy 31eR-

TYE FT UEd AER-TYE | & 3T 6t AdY Y 3eR-THE BT Y &R THE A 21
WINDOW : XFOELX :: TICKET : UFDLBU :: REGION : ?

Ans X 1. HFSOKL
/< 2. BHFDLO
« 3. SBHFLO
/< 4. SHFKLO

Question ID : 26433069021
Status : Answered
Chosen Option : 3




Q.11 39 fywey &1 999 IR Wt AT 7Y wreel & 39 T w0 #) Fefa srar g S pa da
3o R F oma €1
1- Expensive
2- Expedition
3- Experience
4- Expel
5- Expenditure

Ans & 1.2,4,51,3
X 2.4,2,51,3
X 3.521,4,3
X 4.2,4,5 3,1

Question ID : 26433079453
Status : Answered
Chosen Option : 1

Q.12 7fora fagl & 9 I8 FaioH ST a9 B PR P FTU - el F A RI@A R

e ar afieRur Tgfera 8 wrem|
20*2*50*5*115

Ans X 1.- % + =
2. %, =+
& 3.+ %, - =
Kb+ X =, -

Question ID : 26433068570
Status : Answered
Chosen Option : 3




Q.13

Ans

34 [adhed &1 99+ Siforg orH 1 715 el Ffed @ (i o gaH 1 ol 761 8)

P

& 1.

Question ID : 26433068618

Status : Answered

Chosen Option : 1

Q.14 el ¥ A IW A= FT 994 DI Forad & 18 wemsit & & adt Wy 8, o day

Ans

R e ¢ gq=al A Sensi & =R

(e MU wEma uR ®Is off withar 39F yew Siwl ¥ faunfora farg fam, gof Jemait
WE B )

(36, 90, 18)

(15, 35,8)

2 1.(13,78,6)
2. (14, 45, 5)
X 3.(14,42,7)
X 4.(12, 60, 8)

Question ID : 26433069244

Status : Not Answered

Chosen Option : --




Q13 9 goT & for B F 3R 'PQ W @1 AT g, d BT FeT & o

Il T guuT wiafee & =T S

P

ECONOMIST

Q

X TRIMOWDO3

2 T2MISND03
v T2IMOWNOJ4

x+T2IMSNI01

Question ID : 26433067821
Status : Answered
Chosen Option : 3
Q16 giep+QeafRfFp QFtamig, P-adradfefrp e arg, P-qaradg
% P, Q B 98 ¢, df Frufaf@d # & 19 °1 sivie g8 FRefia sear €, i A, ¢ S =it
g2
Ans X 1.A-B=+=C
& 2.A+B+C
X 3.A+B=C
X 4.B+A+C
Question ID : 264330104959
Status : Answered
Chosen Option : 3
Q.17 Fufafad & @ S9-ar seR-aqg & 78 s@ar A uy-fig (7) S ufawnfia same
DAJ, GEL, JIN, MMP, ?
Ans X 1.QPU
7 2.QRT
2 3.PRS
« 4. PQR
Question ID : 26433057992
Status : Answered
Chosen Option : 4




Q.18 1 RT 71T uy ¥ $© HY 3R I aT1E 31 HYHI W 3nuia o frepd g M f)

Ans

fiw
T YT B e A, YA & ITH JrA=IE: FId Tt A firsar g1 9 e ue ofik R
Py ¥ % @19 A Freed, fi T 3=t &1 @ifde w0 d srgmRo w3 §1
DY

|.WW,F§|

I.FBR, F &1

- 8

.$BR,W |
||.?§W,R=|ﬁ%|

& 1. DS 1t s ergeRu T dRar g
7 2. Bad FIsh | SFTER AT §
X 3. Pad B 1| 3TER BT §

2 4. 1TUT 11 GF FIh Y SFERUT &R §

Question ID : 264330104915
Status : Answered
Chosen Option : 3

Q.19

Ans

o T BT iR frewyl @) saFgd® U1 a8 9Fd gU f Ul § € it e wdl €,
Y gt 98 9THR ©U d J1d aa) S g wdia gt @, fofa w5 ¥ fog o fAeeef A @
PI-ATR frepd FyA(ET) BT aIfbe U F SR HRarHIA 2R |

frem:

. TO 969 F UR g1 B TS 81
II. BT G Beg el g

. 9 f&r v g

V. BIE o9 FoGH e 31
1. ad e | 3R 11 3R R §

X< 2. Had B 1| 3R 111 SERUT AR §
7 3. baa FsBy |, 11 3R 1V SFTERU R &
X 4. Had fpe | 3FTERT IRAT 7

Question ID : 26433070345
Status : Answered
Chosen Option : 4




’ T oo Reedt & @ 3@ 3l & T F A e srpl-gmer &
SeAfET (?) & T 9 3T T 87

Sdi=redinlfe ik

x 1.

x2 @

x 3.

Ans

Question ID : 26433080515
Status : Answered
Chosen Option : 2

Q.21 I Y HT TG S RraH B muy § I yoR Wafd & 9 vor fafafad
| 5t TG U H e g1
(File: Bl B TP g 3wl § fyurm fre i, gof Temai w nfordty wifpang «t
ST TIRT | IeTeRvT & 1 13 - Kty Tferant S % SisAge AN ST 3ife 13
o foraT ST gHar1 81 13 FT 1 3R 3 H FAUTRIG $71 3R fhR 1 3R 3 wR nfvrdig dfsrame
P P oAl T B 1)

(452, 50, 63)
(260, 35, 30)

Ans < 1.(260, 30, 25)
< 2.(330, 30, 45)
« 3. (260, 50, 15)
< 4.(230, 15, 45)

Question ID : 26433076473
Status : Not Answered
Chosen Option : --

Q.22 wﬁﬁa YTYT H, "MOBILE' &1 'PRELOH' forRaT ST 2 3R 'SILENT' &t 'VLOHQW"
SR YT A PAINTING' P ) Rt T2

Ans K 1. RCKPVKPI
7< 2. SDLQVKPI
« 3.SDLQWLQJ
< 4. RCKPWLQJ

Question ID : 26433067770
Status : Answered
Chosen Option : 3




Q.23 qmﬁf&agmﬁ, 'BREAK' @1 '2182111’ ¥ ¥U ¥ ferar wrar @ 38X 'COLOUR' Ht
34124518’ & ¥4 ¥ ferRar Siar 1 I 4O H ‘TRING’ FY S forar smemn?

Ans 7 1.20183147
/< 2.20189147
/< 3.20181347
< 4.20183174

Question ID : 26433067574
Status : Answered
Chosen Option : 2

Q.24 AT 7T FHHR B Agferd B & e i1 &t Temsit 3k v &t Rl & weR ggan
m?s+12+15-9=203

Ans X 1.12,15,-, %

X212,9,+,-

& 3.15,6,+,+

X 4.14.6,+, x

Question ID : 26433085359
Status : Not Answered
Chosen Option : --

Q.25 TS 3 faar T €, O A ¢ ue g 81 2 e fawenl # 9 98 9%t fawew g, st

3T Bt R PRI
RMTS, WGAK, BAHC, GUOU, ?

Ans X 1.LMNQ
X 2.L0vQ
< 3.LMNO
4. LOVM

Question ID : 264330104828
Status : Answered
Chosen Option : 4

Section : General Awareness

Q1 waHsd fear dierg?

Ans X 1.5%10 fHamiex
« 2. 10 ¥ 200 fpamier
< 3. 259 45 fpamieR
X 4.10 9 25 framex

Question ID : 26433064463
Status : Answered
Chosen Option : 3

Q.2 3f &9 SHEdt (GNP) & UeTd &) Uer €, df I dt THT 317 uTed gielt 82
Ans X 1. Jhd R IAE

X 2. fdaTd em

« 3. IS B IATE

7 4. SR ¥ R Ihd T IdE

Question ID : 264330105362
Status : Answered
Chosen Option : 3




Q3 fafifad & & 19 91 ve wefae Y T8 82
Ans X 1. faH

2.9
< 3.5
X 4. HU™

Question ID : 264330105618
Status : Answered
Chosen Option : 2

Q4 i 2020 § R gT@t UoU &9 & Fw™ B A2
Ans X 1. fiorfdeT

X 2. 3 Afge™

X 3. PR & UdH

4. Ta i

Question ID : 26433071542
Status : Answered
Chosen Option : 4

Q5 _ Pfkgw prae | ot 9gEl & o srar g
Ans X 1. @&l

2. TN URR

X 3.8

X 4.9

Question ID : 264330105500
Status : Answered
Chosen Option : 2

Q.6 TREd! WaTel P R |, e ISl Ieig UUH 7 T fra #feR &1 At foean siv 5@

3 voa gd-fifder & +R feam
Ans X 1. Tral
X 2. qBIeH!
7 3. Hc

o 4. g

Question ID : 264330105439
Status : Not Answered
Chosen Option : --

Q.7 3t (0Y0) A Irfivr wies Ugd YRF FA F g w10y o R w=R & wry unfterd

P 39 UgA ST A T2
Ans 1. 3T HRA BT dSl

X 2. U@ dgR Hfaw &1 aE1-a
< 3. Tgad HRd
X 4. 9= U

Question ID : 264330105291
Status : Not Answered
Chosen Option : --




Q8 _ 7 3ager 2022 § AU & Y I9UT & ¥ A Y |
Ans X' 1. URd $HR

X 2.T&. A FHR

X 3. g wefara

4. 3 s

Question ID : 264330105339
Status : Answered
Chosen Option : 4

Q.9 HIfRPT AU F TSI IR &
Ans X 1.4

X 23
X 3.5
& 4.2

Question ID : 264330105450
Status : Answered
Chosen Option : 4

Q.10 gt FF 7d & T A @ vard & el W urpfaw s a

Ans 1.3
7 2. ey
X 3. FWRT
X 4. TR

FEd 8

Question ID : 264330105641
Status : Answered
Chosen Option : 1

Q.1 frafafEa & @ frger day @it ards TR A 82
Ans X 1. Ufsd eRumre IRRwE

2. Ufsd Riagar zmf

X 3. ufed Aagia vTg

X 4. UfSd SRR

Question ID : 26433074114
Status : Answered
Chosen Option : 2

Q.12 gErH 4fiE e TEw AT ST MEERT 3 Al ¥ g g 9

TS ot

Ans 1 B
X 2.feer
< 3. gfamn
X 4. 9Rds

Question ID : 264330105271
Status : Not Answered
Chosen Option : --




Q.13 YR AT FAY BT U 9 o mafora fear ma u
Ans X' 1. HAdTl

2. 919
X 3. Jd
X 4. 95
Question ID : 264330105563
Status : Answered
Chosen Option : 2
Q.14 FRTRT HT IS T H

Ans o> 4 NaBsO7.5H;0
v 2. Na;B4O7.10H,O
X 3. Na;B;07.10H,0
X 4. Na;B407.12H,0

Question ID : 26433066459
Status : Answered
Chosen Option : 3

Q.15 fFEfafad § @ o9 a1 %4 fiwh 9o $ gl A ad 22
Ans X 1. @dol 92, Ael 9%, UG 9%

o 2. JISTYd T, FeTelt 981, D 9%

X 3. TR el WD, ST G, J[eroht a0

X 4. TTAS 921, @aoll 931, TG 92

Question ID : 264330105420
Status : Answered
Chosen Option : 1

Q.16 I RIF Bt FyF F 395 IPE v F g 2013 # FufafEa § & 9193 vlofda T
RESR & G foan war ar?

Ans o 1. TTld A1CH SfbTGH! JRIBR
X 2.5 ot
X 3. FIfde™ IHH
X 4.8 e R&BR

Question ID : 26433074835
Status : Not Answered
Chosen Option : --

Q.17 %;;?ﬁvhm%%iﬂmaaméﬁﬁ,a%mﬁw%ﬂﬁmmmvﬁth

Ans 1 335s
X 2.10 4%s
< 3.30 A%
X 4. 5958

Question ID : 26433064284
Status : Answered
Chosen Option : 4




Q.18 Fafafad & @ #1 u1 ug Hfa saor & ury =1t ar?
Ans X 1. df-faufes

2. TR

X 3. PURMT

< 4. TRIESaS

Question ID : 264330105198
Status : Not Answered
Chosen Option : --

Q.19 fafifed & d 5 aftraarg & 7@ af & ®u & g=man war 82
Ans 7 1.0Ug

7 2.3

2 3. 3w

X 4. 4@

Question ID : 26433071697
Status : Answered
Chosen Option : 4

Q.20 fEgwarh Ry Wit 31 T wfurge FETE 9 T vReTd @aTe et o, Wit
ffgwrit wfa & WA ¥ HEfea off)
Ans X' 1. 3T
< 2. gfearan
7 3. TR

o 4. TR

Question ID : 26433054477
Status : Not Answered

Chosen Option : --

Q.21 @iy T4 I HH 1Y F T B PREM] SR WEH! Sl GaRATP Arnivdl §
e oo @ w1 FRaT 31
Ans 7 1.14
X 2.16
X 3.15

X 4.18

Question ID : 26433064829
Status : Answered
Chosen Option : 1

Q.22 fyggd URT &Y AT SPTS GRT oG fpdT SITaT 8

Ans ' 1.dlc
P AS ]
X 3. 1R
4. TR

Question ID : 26433066453
Status : Answered
Chosen Option : 4




Q.23 Fgfafad § @ 1a-a1 $-siad o1 affevor 78 82
Ans X 1.B2C ((AoMY-g-HogmR)

X 2. C2C (FGR-¢-HINR)

« 3. D20 (SRegR-g-fefesgey)

X 4. B2B (fSeg-gfaa)

Question ID : 26433064520
Status : Not Answered
Chosen Option : --

Q.24 AfiREW sfFEs FTIEAE T &l
Ans X" 1. Mg(OH) 2

X 2. MgCco3

« 3. MgO

< 4. Mg0?

Question ID : 264330105472
Status : Answered
Chosen Option : 4

Q.25 YR & U F A9 & we & FafifEa & § #1991 vy w18 22
Ans X 1. qPUfd &1 gTa Ud af Bt 3rafer & o fasam Srar g1
2 2. 919 3 ufaffia & Rigid & AR gl 81

o 3. PUd & g & ey F gt wepreft iR faaret ot S ok Fvfa et -amrer sk
Fa AT Gl gRT o1 S wehd g
X 4. 98 Faifad MLAs 3R MPs gRT Sl ¥ ¥ A1 91l g |

Question ID : 26433072914
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 wmuﬁ%wwmm% I U9 kg & T 1300 g fE@TaT 21 98 3M U+ HU-
Hed § 15% B §iF Ba1 81 Y5 aTH uforwra ]|
Ans X 1.45%

 2.49.5%
X 3.48.5%
X 4.50%

Question ID : 26433063474
Status : Not Answered
Chosen Option : --

Q.2 g (cos q + sin q) = 31/25 &, Tl cos? q BT A T IM?
Ans X 1.512/625

X 2.513/625
X 3.522/625
 4.527/625

Question ID : 264330105903
Status : Not Answered
Chosen Option : --




Q3 g9 F TP DIcuEs $1 §9%d 66cm? 7 3R 3 AsuEs & 101 &1 619 60° B1 I g1 ot
frwar yira Fifcm

Ans 1 7./T6 em
X2 6y14cm
¢ 3 314 em
X4 515 cm

Question ID : 26433066334
Status : Answered
Chosen Option : 3

Q.4 qg fpean T©I St 87501 A g1 § 3R 765 A uia: fauTsy & 98 91a S
Ans o 1.87975

< 2.87966
< 3.88975
X 4.87775

Question ID : 26433074220
Status : Not Answered
Chosen Option : --

Qs cosA sinA e SR

l+tanA 1+cothA

Ans X 1.cosA + sinA
5 2. tanA
«” 3. cosA - sinA
25 4. cosA.sinA

Question ID : 26433066241
Status : Not Answered
Chosen Option : --

Q.6 ¥, Gt 3R A TP Sl ot HH: 30, 40 3R 60 37 & TR X Hdl 71 S G R
A &I B R 3 ST 3t Heraa ovd §, a1 i fram e o ol g1 % Wt 872
Ans 360

1.5 —
X 17

v 2=

4

xa%ﬁ?r

Question ID : 26433080056
Status : Not Answered
Chosen Option : --




Q.7 e ¢ T &1 1 3.5 A, §, @ NA BT Pt YT e a1 82

Ans

X 134259112
 2.3859.102
X 3.45.75 9112
X 4426912

Question ID : 264330105845
Status : Answered
Chosen Option : 2

Q8 TR a:b=c:dg, @ ARG A A FH-A1 U a: ¢ F WER 872

Ans

X 1b:c
K 2a:d
o 3.atb:c+d
K4 a+dib+c

Question ID : 26433066174
Status : Answered
Chosen Option : 4

Q.9 1 & ury fore 4 U1 3G 1239 1 R A 4 BT 750 T B o WG S U1 2630 9 90 | IH

Ans

& U g H e w e

< 1.32,080
X 2.32,205
< 3.32,808
 4.32,880

Question ID : 26433065057
Status : Not Answered
Chosen Option : --

Q.10 25,000 F1 g YT & 5 YR faurfora far sirar 8 % afe v um a1 4% Fr R J 3R

Ans

< 1.32,300
v 2 32,700
3. 32,600
x4 22,400

TR B 5% Pt &2 A = foman iran @, @ S Rm &y $o aifies sare 2223 §14%
R e AT faran mar a2

Question ID : 26433082615
Status : Not Answered
Chosen Option : --




Q.11 13 & 7 arferet fafdre Tea) § dri Y e o) qufd 81

=T | e $r gEar
A 174
B 200
C 144
D 195
E 280

T ¢ F AR P Y- BT I E T A1 B ST F ST T 87
Ans X 1.35:18
X 2.17:29
 3.18:35
X 4.31:17

Question ID : 264330105743
Status : Answered
Chosen Option : 3

2 aex_i-13 %,?ﬁx4+% H1 T T e

Ans 7 1.29239
< 2. 28561
< 3.27887
X 4.29243

Question ID : 26433075304
Status : Answered
Chosen Option : 1

Q.13
12 14 16
== — & HgaH FATTEH (HCF) & a1or
Ans i
K1 255
5 <2
52 255
X3
255
X4 oo

Question ID : 26433080077
Status : Answered
Chosen Option : 2




Q14 Safaf@a afer &1 seaad &1 3T f9 Ru v ved @& 397 &)
Tk Tl # FE X F ot & 9% =i A, B, C 3w D #

faar 3ty ot & ofematt & oRvme RrafRfEE afeer & et oo §)

RO S i JEm
AR A | A9 B | AR C | FE D
gt # 3o 24 25 18 20
A= # wegoT At aifta & 3o 14 12 10 15
e F st afts aftg & sl 7 6 8 10
gt & 3T 63 60 56 55

mmciﬁaﬂuﬁﬁmmﬁmﬁmgaﬁmmﬁaqmﬁm
Ans X 1. 9.85%

v 2 8.70%

X3 9.20%

X 4. 10.30%

Question ID : 26433076240
Status : Not Answered
Chosen Option : --

T X'+ + 25 F TUET FAA T FA- F7

Ans

V1 (x24H3x+5)(x2-3x+5)
X2 (x2-3x+5)(x2—-3x+5)
X3 (x24+3x+5)(x2+3x+5)

X4 (x2+3x-5)(x2-3x+5)

Question ID : 26433076064
Status : Not Answered
Chosen Option : --

Q.16 T fAifda faa W 25% F1 e 3R 15% MR 10% B &Y e Fel & &g o7 oieR 225 AT
foer ot wif¥r 30 Sifor@)

Ans o 1. %1,666.67
X 2. 3833.33
X 3. %3,333.33
X 4 32,500

Question ID : 26433076182
Status : Not Answered
Chosen Option : --




Q17 gfg TP A BT TG 24,416.64 cm?3 B, 1 3D YFIT SAGS T BT Wil SR &
A R 9% T8 B (r=3.14 Q)

X1 6069.67 cm?®
X2 3069.55 cm”

Ans

v 3 4069.44 cm?
X 4 5069.66 cm?

Question ID : 26433065017
Status : Not Answered
Chosen Option : --

Q.18 Y ABC H, BV BAC PT AHIGHTSI® Yol BC BT D W HIedl ¢ G AB = 10 9, 3R
AC =14 3, 9 BD : BC TRIT3?

Ans X 1.7:10
X27:5
53.10:7
& 4.5:7

Question ID : 264330105830
Status : Answered
Chosen Option : 4

Q.19 fT T HYF & HeH # el fawey #1997 Fifs@)
TP g9 & o & RRY (37d) W Y T=f @18 St ot §1

Ans 1.9 TH IR S JAMCR g g
X 2.3 UD TN F d9ad eIl &
< 3.9 357 fig I ToRe B
X 4.3 TP G I Ufawse Hll g

Question ID : 26433082921
Status : Answered
Chosen Option : 1

az e (4a+ 2+ 5) =14 3.7 (1622 + 2) SIAF TS
Ans 7 1.41

X 2.36

X 3.25

X 4.40

Question ID : 26433061944
Status : Not Answered
Chosen Option : --




Q21 7o PR g A F &g B B 4R 20 kowh B 0T & Torfl T ecl 8112 e 1, G PRIGG A A I BN 8
3 30 kv B 71T § T §Y TEA FR Y22 ¥ U UGl @1 A R B F e Bl g8 i Pife
Ans X 1.300 km
2< 2. 260 km
2 3. 280 km
o 4.240 km

Question ID : 26433076046
Status : Not Answered
Chosen Option : --

Q.22 7 & 7€ TiftreT 5: Hufr gRT I 7 o F wEn F i@ R

Th
40
60
80
110
120
80

L GRT 3 ¢ ¢& & GBI, J GRT I T TP $1 TBAT 1 a1 ufawrd 22
Ans X 1.100 ufc=rd
& 2. 200 Ufa=ra
< 3. 150 Hf=rd
< 4. 250 gfa=rd

OZEL—'W!—.i

Question ID : 264330105715
Status : Answered
Chosen Option : 2

Q.23 T H&TH 60 BE & NI 3 62 &1 39 [Awa & T 3R asfPal & Nud 3w HH:
60 3R 65 | H&T W ASH| P! B &:

Ans X 1.25
X 2.31
 3.36
X 4.4

Question ID : 26433075381
Status : Not Answered
Chosen Option : --




Q24 o aw =TE & AT F AR A Be 71w 9o #:v 39w &

¢ faffies T (S1, S2, S3, S4) # 39arey AMET (M1, M2, M3) &
AT FY g B
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@

=
L3}

10 15 20 25 30 35

EM1 EM2 EM3

g TR # 9fd =R M2 et & siteg g & 30 M2 | 27
Ans X 1.523RS3

X 2.523R s4

 3.513Rs4

2 4.51 3R s3

Question ID : 26433085474
Status : Answered
Chosen Option : 3

Q.25
1 1

1+ cos(20% — @) 1-cos(90?-9) ——— '

Ans o 4
« 2. 2sec?0
X300
X 4. 2tan’B

Question ID : 26433058176
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence.

| used to swim across the river when | was young.

Ans X 1. was swimming across
25 2. will swim across
«” 3. could swim across

/5 4. can swim across

Question ID : 26433073839
Status : Answered
Chosen Option : 3




Q.2 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

Getting a compliment from her husband was a rare occurrance in Rashmila’s life.
Ans X 1.No error

«” 2. occurrence

< 3. ocurrancce

/5 4. ocurrance

Question ID : 26433058639
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate meaning of the given idiom.
Fair and square

Ans 7 1. Honestly

/% 2. Good looking
/% 3. Fair-skinned
/5 4. Being vague

Question ID : 26433070801
Status : Answered
Chosen Option : 1

Q.4 Select the option that contains a grammatical error in the underlined portion.
| have never played any game of side this track during the season.
Ans X 1.|have never played any game off side this track during the season.
«” 2. | have never played any game of side this track during the season.
/< 3. | have never played any game off side this track during the season.

< 4.1 have never played any game off side this track during the season.

Question ID : 26433088586
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Last before year, Shirley got very good grades.
Ans X 1. Before last year
/< 2. Before year last
«” 3. The year before last
/< 4. The last year before

Question ID : 26433088745
Status : Answered
Chosen Option : 1

Q.6 Select the sentences that contains no spelling errors.
Ans ¢ 1.1 heard raucous laughter from the next room.

< 2. | heard raucouos laughter from the next room.
< 3. | heard raocous laughter from the next room.

/< 4.1 heard raucus laughter from the next room.

Question ID : 26433070692
Status : Answered
Chosen Option : 1




Q.7 Select the most appropriate synonym of the word ‘stagnant’ from the following
sentence.

Reeta was motionless after knowing that her brother had become mentally unstable
after seeing the fatal accident on Tuesday night.

Ans ¢ 1. Motionless
25 2. Accident
/5 3. Unstable
X 4. Fatal

Question ID : 26433072267
Status : Not Answered
Chosen Option : --

Q.8 Select the correct passive form of the given sentence.
The new owners hired a lot of new servers.

Ans ¢ 1. Alot of new servers were hired by the new owners.
< 2. Alot of new servers are hired by the new owners.
< 3. Alot of new servers are being hired by the new owners.

< 4. Alot of new servers had been hired by the new owners.

Question ID : 264330104559
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the given word.
Ambition
Ans X 1. Anxiety
< 2. Intent
«” 3. Laziness
/< 4. Object

Question ID : 26433060694
Status : Answered
Chosen Option : 3

Q.10 Select the option that expresses the given sentence in passive voice.
Had they not cleared the exam?
Ans X 1.ls the exam not been cleared by them?
/< 2. Was the exam not been cleared by them?
«” 3. Had the exam not been cleared by them?

/< 4. Have the exam not been cleared by them?

Question ID : 26433073245
Status : Answered
Chosen Option : 3




Q.11 Fill in the blank with the correct collocation.

Motorists committing this infraction are fined.
Ans 7 1. heavily

25 2. hardly

< 3. slowly

25 4. wholly

Question ID : 26433090501
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option to fill in the blank.
We decided to as we were missing him a lot.
Ans ¢ 1. pay him a visit
/5 2. bring in a visit
/< 3. give a visit
/5 4. take a visit

Question ID : 26433091844
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate synonym of the bracketed word to fill in the blank.
There is a huge generation (void) between Arun and his grandparents.
Ans X 1. experience
< 2. traditions
 3.9ap
< 4. memory

Question ID : 26433060686
Status : Answered
Chosen Option : 3

Q.14 Select the correct indirect form of the given sentence.
Latika said to him, “l got a hefty discount on this television.”

Ans X 1. Latika told him that she is getting a hefty discount on that television.
/< 2. Latika told him that she has got a hefty discount on that television.
/< 3. Latika told him that she has got a hefty discount on this television.

«” 4. Latika told him that she had got a hefty discount on that television.

Question ID : 264330104602
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Seeing my messy room, my mother taught me to keep everything in order. Now my
room is .

Ans ¢ 1. spick and span
/< 2. on demand

/< 3. high and dry
< 4. of no avail

Question ID : 26433070547
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate synonym of the underlined word in the given sentence.

The perils of smoking tobacco can never be ignored.
Ans X 1. Benefits

/5 2. Delights
«” 3. Hazards
/25 4. Humiliations

Question ID : 26433071961
Status : Answered
Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

One who mediates in a deal or complex situation
Ans X 1. Equaliser

< 2. Solicitor
< 3. Pacifier
«” 4. Negotiator

Question ID : 26433072312
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
| am been working_here for the past ten years.

Ans X 1. had been working here

< 2. is been working here
«” 3. have been working here

< 4. was been working here

Question ID : 26433097031
Status : Answered
Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There is a whole world / out there that / is invisible from / the naked eye.
Ans ¢ 1.isinvisible from

/% 2. There is a whole world
/< 3. the naked eye
/5 4. out there that

Question ID : 26433088944
Status : Answered
Chosen Option : 4




Q.20 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. In Tokyo, they built an expressway linking the international airport in Haneda to the
centre, and widened some of the city’s major arteries.
Q. These infrastructure improvements helped to bring about the Japanese economic
miracle over the next couple of decades.
R. Tokyo 2020 was supposed to be a great economic stimulus, replicating the
achievements of Tokyo 1964.
S. It was thanks to hosting that Olympics that Japan invested in infrastructure such as
the famous Shinkansen bullet train .

Ans 7 1.RSPQ
< 2.PQRS
X 3.QPRS
/< 4. SRQP

Question ID : 264330104738
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) demanding for students as a result of different internal and
external expectations. Teenagers are especially (2) to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4) aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) in future.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.became

/5 2. becomes
«” 3. become

/5 4. becoming

Question ID : 26433084799
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) demanding for students as a result of different internal and
external expectations. Teenagers are especially (2) to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4) aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) in future.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.liable

5 2. scared
/5 3. resistance

o 4. prone

Question ID : 26433084800
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) demanding for students as a result of different internal and
external expectations. Teenagers are especially (2) to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4) aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) in future.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1. physical
o 2. intervention
< 3. convention

< 4. collateral

Question ID : 26433084801
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) demanding for students as a result of different internal and
external expectations. Teenagers are especially (2) to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4) aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) in future.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1. most eager
< 2. more urgent
/5 3. more important

«” 4. most crucial

Question ID : 26433084802
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) demanding for students as a result of different internal and
external expectations. Teenagers are especially (2) to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4) aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) in future.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans X 1.purpose
/5 2. wanderlust
/5 3. sneak
«” 4. ambiguity

Question ID : 26433084803
Status : Answered
Chosen Option : 1




